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22 +ax-2=(2x+1)(x-2) = 2x* - 3x -2
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9x2 —12x+a= (3x)2-2-3x-2+22 = (3x-2)2
et a =4, b =2 °Jth.
La—=-2b=4-2%x2=0




26. xX*+ax-12=(x+b)(x+4), > -5x-c= (x+3)(x+d) & i,
a+b+c+d¥E? (a, b, c, d =)

O -12 @14 ® 20 @ -28 ® -34

B ~
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b=-3,a=-3+4=1

¥ =-bx—c=(x+3)(x+d)=x*+(d+3)x+3d
-5=d+3, c=-3d

cd=-8, c=-3x(-8) =24
na+b+c+d=1-34+24-8=14
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_12=4b - b=-3
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W rax-12=(x-3)(x+4)=x>+x-12
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8x? —14x+ 3 = (4x—1)(2x - 3) = (ax + b)(cx + d)
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